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1. Solve the following: ) Noe of these

12x[15+2{4-2(17 813115

72 ® 7 3. tdentify the triangle given below and
) 168 Meel
) Hoe of these
-3

2. Ina group, 32 peaple o not cat meat, 50

people do not drink milk and 40 people

drink milk. How many peoplo eat meat?

(158 132

©) 20 (o) 53 -

(8] None of these (A) migh triangle

(8) Obtuse triangle

3. Which onc of the following is the value | () icire tianple

of 50 that 5n + 1 s divisible by n -1? (D) Complete triangle

wE ®'s E) tone of these
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[image: image2.jpg]5. Write the integer which s represented on | 10,13+ -4+ (5 43 (76 x5) + 2
number fine w2 3
i + ©) 27 ) 33
R ETR AR EEE ) Hone of these
(A) dmere han "1 (8 3moretian5 | 17 Find the perimetre of the given figure?
(€) 5 less than 3 D) 2less than—3
(6) 5 ess than 7 3em3tM3cm
5 In the given figure state the type of | 4 €] 4cm
triangle 3Itm
¢ () s0em o) a1em
(© 44cm 01 32¢m
(6) Hone of these
12, Write thirty billion and twenty millions
in numbers as per international system?
& (8)3,02,00,00,000
A (8) 30,02,00, 00,000
(A) Isosceles triangle. (€) 30,020,000,000
18) Sesene triangie () A of these
1€) Equilateral triangie {€) None of these.
) toth {4) and (8 —_—
e e [Cue B a0
7. inthe following figure find the value of x: | (€) 280 (0) Al of these
6) None of these
1a. A natural number s subtracted from the
numerator of the fraction . The same.
B
number is subtracted from the
(A) 105° (8) 144" ‘denominator of the fraction. The resulting
) 9 ) 15* f
i€) 12 fraction s the cquivalant fracton of © .
n
8 3. p=-2g=-1andr=3, find the Find the number that is subtracted.
value of p? + g% - r. (1 )2
R (®) 0 ©3 ©) 4
) -4 e (€) None of these
0 -2
15. In 3 triangle the sum of square of ts base.
9. In a shooting competition a shooter gets. and perpendicular is equal to the square

Classs

4 points for hiting the target and -6 points
for missing the target. A shooter scores
30 points after 20 rounds. The number of
times he missed the shot is?

™10 ®) 12

©15 ()5

{E) None of thosn

of hypotenuse. What kind of triangle it
is?

(%) Equisteral triangle

(8) 1sosceles triangic

(©) Righe iangle

o) Al of these

(61 None of these
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[image: image3.jpg]16.A bank gives its credit card holders four
points for every Rs 75 spent. Steve carned
36 points. How much money did he spend
1A 15375
(B) Rs2700
(©) Rss25
(0) 5675
(€] Non of these

17.1 100 is divided by the positive integer x
then the remainder s 2. If 198 s divided
by x then the remainder is?

s (8) 2
@5 ()4
(£} None of these

18, 1f the number 144 x 47x 3 s written in the
form ‘¥, where n is 9 natural number,

then n*is:
) 12 () 2
(© 35 (0) a8
(&) 60

19.1n a parallelogram one of its angle is 90°
then which one of the following
statements is correct about it?
(A1 s other angles wil be unequal,
(8) Al the angles will be 90°
€} 15 only two anes will be cqual
(0) Al of these.
(&) Hone of these

20. The side of a square is 3. What will be the
measure of its diagonal?
"z ®a
(© 2 (D) Al of these
(1) None of these.

21.The present age of William is five times
the age of his son. After 2 years from now
he will be four times of his son. What is
the present age of his son?
) Byears 8) 5 years
1€) 7 yoars (©) 8 years
€] None of these.

REFFONTO/BHN

22. The area of a circle is 7 times more than
s perimetre. Find the radius of the circle.
)7 ®) 1
(© 12 ©) 10
(F) None of these b

23, Add 7x - 12y +161 and 25 + 15y -26
(A)-32¢4 274100
(8) 18x+3y-100
(€) 18+ 3y-10:
(D) 18¢+-27y - 102
(€) None of these.

24.1n a mathematics test of 100 marks, the
marks scored by 6 students are the
following: 55, 67, 84, 95, 85 and 46, Find
their average marks.
(A) 82 marks (8) 62 marks
(€) 52 maris 10} 72 mars
(£) None of these

25. The speed ofa car s 10m/s. Find the specd
in km/h,
(A1 26he/m
(€) askm/h
(E) None of these

(B) 35K/
(0) sekm/n

26, The decimal form of 1 ten thousandths is?
(40001 (8) 001
(€) 000001 (0) 00001
(€) None of these

27.The distance between New Delhi and
Mumbai is 1260 km and map shows it in
12 cm. What will be the distance between

New Delhi and Guwahati if map shows 19
am?

(A 19950 (8) 1795km

(€] 1685km (0) 1885km

(€) None of these.

28, Write the following in decimal form:

3
a00011s 2.

10 " 1000
() 401308 (8) 2001308
(€) 40000300 (D) 40304

(€] None of these
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[image: image4.jpg]29, Which one of the following is a prime
number?

8) 5
o) -8

30.1f two angles are complementary to each
other then find the value of cach angle.
(h) &5 8 &
() 50 0507
{£] None of these

31, The LM of two numbers Is 144 and their
HCF is 8. If one number is 18, then the
other number will be
)12 @4

€6 )16
{£) Non

of trese

32. At what time the angle formed by the
hands of a clock s 0%

(A1 8o dlock 18 1odlock
(€)8-50clock (D} 120 clock

(£} None of thase

33 6(x+2) 2

18+ 3x then find the value

@6
) 12

1€} fione of thes

34.In which one of the following conditions
are the two angles called supplement of
each other?
1A Vi the sum of o angles 590"
18] When the sum of two angles 15 more than
o
€] Wihen e sum of o angles s 180"
©) When the sum of two angles s more than
1807
() None of these

55, Observe the following pattern:
1-6

2e146-12
20a-6+8-20
20446+8+10-30
Find the lue of

208-5+8+ ...+ 308 gen by
%230 (8) 260
€ 250 (0) 260
(€ 720

3. Simplify.

o
5 ®0
€ = o =
© 5 ® 5

() None of these

37. Find the value of a in the following: 153 -
936
7 82
©3 (o)s
{£) None of these

38. The product of the H.CF and LGV of two

numbers is 384, If one number is 8 more
than the other number, then the sum of
the two aumbers is?

()30 @

(© 32 10) 40

) Nonc of these

39. Which one of the following is the longest
chord in a circle?
(A) Radius
(€) Segment
(E] None of these

Find the value of (12:10) (12 + 10)
(w12 ) 2

() e (0) 14

(61 Nome of these.

(8) Diametre
(D) A
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